X fx] f'{x) 2(x] g'lx)
0 2 1 ) -4
1 3 2 3 -3
2 3 3 1 -2
3 10 4 0 -1
1. Findthe derivative of f+ 2gatx=3 3. Find the derivative ”F% at x=0 6. Find the derivative of f(x%) at x=1
a. -2 a. -13/4 a2
b, 2 b. -13/25 . 6
e 7 c. -13/25 & 8
d 8 d. 13/16 d. 12
e. 10 e. 13/4 e. 34 .
2. Find the derivative of f*g atx=2 4. Find the derivative of \[f(X) atx=3 7. Findthe derivstive of ~ at x=1
a. -20 a. ‘&1 a. -1/2
h. -7 b. 575 b, -1/3
c. -6 e, 2 ©ous
d 1 S d. 1/9
b © e g, 1/3
e 13 e. 4410
5. Find the derivative of flg[x]) at x=1
a. -12
b, -6
c. 4
d @
e. 12



B.

13,

14.

15.
16.

17.
18.
19,

20.

. . 2=
The derivative of y = T

- x+1
& (3a+1)8
Ex—3
b. (3x+1)°
3
. (3x+1)7
7
d. (3x+1)°
- T—Gx
To(3x+1)°
Find the derivative of v = (3x* 4+ 5)*°
. . [3x-4
Find the derivative of |
8| x+1
Find the derivative of v = x* sin(x?)
¥+3

Find the derivative of v =
- Eanx

Find the derivative of v = +/3sint
Findy" if y = (x2 +5)3
Find the values of x for which the graph of v = (2x + 1) has a tangent line which is
perpendicular to the line x + 24y = 48
The functions(t) = t* — 6t% — 15t + 4 describes the position of a particle in motion along a
line during the time interval -2 £ t < 10, with s measured in feet and t measured in seconds.

a. Find the velocity function and the acceleration function.

b. Find the value of the velocity at the instant(s) when the acceleration is zero.

c. Find the net displacement of the particle during the indicated time interval.

d. Find the total distance traveled by the particle during the indicated time interval.
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